EARAROBEEIERT — 2 N— IBISH —F

20185F6H2H (+) smEAE1H

mﬂld)il‘ﬂﬁ##i% H IR 3% (xwlw | lmEmml - |5 8 s e
[x&£] 1 %:350,000  23#&:105,000 ™  3#%:35000H™ . 43#%&:21,000 " ~ 53 :14,000 M
B | RE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
o = [iijmE2 :57. -3-3~ . — REM (1£8)
1 o | AN AT "3 56.0 1(5_7)6 §3%2 1.0 2 f_ig; /J\;;yﬁy.\ .
A/ d— BiIAIVRESY HE IB—
. RHEEC :57. —-1-1- . = hEE (EH)
5 3 STFIEIIL 4 3 oo 1(;5/74)7 1-1-1-1 | 39.4 4 (4:3; o "
L:7viIZ—L B:¥%/40KY NS
L RSTIS WS 4 3 | ETE 1:57.8 2-2-2-3 [39.3| — 3 428 | WIEE (£H)
3l7l7 | P> K377 v2a 54.0 (1/2) (+12) | ) A
RIAL>T59va BAATFHLRS WA 77— L4
3 S, e = HHIEA ; -4-4- - ittt (1£%)
alglg | EIYELFE-5 43 e 1(/75{:? 4-4-4-4 | 39.2 1 51:135) A
RiAfauhLyy BNTIATL Y 1—F HE =A
HHEA 58, —6-6- 0| - s (E#)
s 2xEN—%2U- R AR B R ° e |
R:A=JXM A4 B:AXEXIRXTTI EviLy RT7—~4L
5 # 3 | HBIE®E 1:58.9 5-5-5-5 |39.9| — 5 | 474 |BEETE (EEH)
6155 A7Vke—A-— 56.0 (4) ) | BAXT
L:XxXp=R BTUEHT—X 552 Ris
o NI BEREM : -8-8- — FEBA (£5)
2 4| Z=—T it 3 Ba 1.(53.7 8-8-8-8 | 39.9 7 ::)58) it "
LA M= FKR—L B:NbyILF F—L— - JvN> - T7—LERE
SN 2 5] ° -7-7- - hEE (E8)
gl1]1|7yss 43 il 1(/&\35;)7 7-7-7-7 | 39.9 8 <4+4¢3 i
ALY ak—5— B:I INERITA NS
® 1 —F—EAIE
12=2r= 3,7,2,8,5,6,1,4
Aol=5r= 3,7,2,8,5,6,1,4
== 3,7,2,8,5,6,1,4
43 —F— 3,2,7,8,5,6,1,4
[ 7N
-y 2 340H 74K 2-3 320M B = 2-3 1,390M & 2-3-7 2,930M
7 B 2 120M 2-7 390M B E 2-3 2,170 K31 2351 13,530M
3 230M 3-7 580
7 140M

ABICOVWTRDTEEERROODE. TR LIV,



